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[nstructions : o solve
@) Al quesiions are compulsory 10 o o .
(i) Qu estion Nos. 110 5 are objective type questions. Each objective question
l} . e - L

carries 01 each question are given before the .question.
(if) Question No
(iv) Question Nos. 16 to 19, each question 03 marks, word limit 75 words.
() Questioﬁ';lﬁos, 20 to 23, each question 04 marks, word limit 120 words.
(v1) QuestiaﬁwNo. 6 to 23 have internal options.
(vii) There 15;10 limit of words in numerical questions.

mark. Marks of 1
< 6 to 15, cach question 02 marks, word limit 30 words.
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Choose the correct option :

(i) In the absence of partnership deed, 1

allowed - |
(a) 6% , b 1 0%
(c) 12% (d) Not allowed

o

(i) The ratio in which old partners agree to sacrifice in favour of new
partner is called -
(a) Gainiﬁgf\ratio (b) Sacrificing ratio

(¢) New fsﬁoﬁt-loss ratio (d) Old profit-loss ratio

oo |t

2 2
(iii) A, B and C_are partners in the ratio of ik

profit-loss sharing ratio will be -

B retires. The new

(@ 2:2 M 1:1
(¢) 1:2:¢- o (d) 2:1

iv) O . H : : 1
(iv) r.\retlremepgf death of a partner, his capital account will be credited
with - . )
. o
(a) goodw;%! of the firm (b)  remaining partners’ share of goodwill

(d)  old goodwill
(V) Interest rate on calls on arrears on

(c) his share of goodwill

shares must ng
t
@ 10% . exceed -
(b) 5%
() 6%
) 6% @ 129

(Vi) The profit or; re-issue of forfeited shares ig ¢
r
(a) Generaf Reserve e to -

(b) Capital;'Reserve
(c) Capital Redemption Reserve

(d) Profit & Loss Account
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Fill in the blanks :

(1)

account is also prepared in Fixed Capital Method.

(1i) Change in profit-loss ratio of partners result in the —_:]_._.. of
partnershlp firm. s
- l§

(1ii)

In the absence of any information, the existing partners w:ll acquire

renrmg/deceased partner's share in — ratio.

L
(iv) The shares of company are transferrable. -

(v) *Cgeish' includes cagh and

P
“J

(vi) An increase in accrued jncome during the partlcular year is
—_—— the net profit, -
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Match th correct columns :

‘AT, 'B' q:
(i) Avé;:agg profit (1) Long term loan ”
(ii) Intqg;?st on drawings (2) Short term solveﬁéf
(iif) Authorised capital (3) Sales of goods
(iv) Debentures (4)  Product method
(v) Fix;:d interest rate. (5) Return on shares -
(vi) Liquidity ratio (6) Capital empmyed" )
(vii) Cast:r from operating activities  (7) Owners of compsmy

(8)

Memoraudum of ﬁssocialion
(9) Sales of fixed assets

(10) Return on debentures
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Write answer in one word / sentence.
(i) The excess of actual profit over normal profit is called -

(i) The part of share capital which is called at the time of winding

up of a company is called -
(iii) Which type of shares are given priority in the payﬁient of dividend?
(tv) Capital Reserve is created out of which type of profit?

(v) Every company shall prepare its Balance Shect according to which
lschedule of the Company Act, 20137
(vi)

Which rat - . ‘
tios are Primarily measures of return?’

(vu) Cash .
paid to acquire ﬁXed assets is which typc of activity?
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5 §a |/ o fafag s 6
. N, |
((:)1) :ji:ﬁ:j“%mwﬁﬁmﬁﬁmﬁﬁﬁﬁﬁmm%l
Gi) vt & fames w0 awErll @ free P @ ¥
Gv) S g e OO @ oft@ @ wed ¥
(V) FOOFY 9N % W B
(vi)ﬁma;fafﬁuﬁawffﬁaﬁmﬁmwﬁaﬂﬁmm%:
Write True / False : .

(1) ~ Preparation of partnership deed is compulsory.

(ii) On the dissolution of firm, Bank Overdraft is transferred to
Bank Account,

(i} Dissolution of firm necessarily involves dissolution of partnership.

(iv) Paid up capital can exceed

!

(v) ' Debentureholders are the owners of the

called up capital.

company.
(vi), The financia] statements of

4 Company also include cash flow
statement.

L
’ v

6 Wﬁm&ﬁqﬁmﬁaﬁﬁw

Define partnership.

%Y / OR
TR P e g 7

Wh:'itf is Profit & Loss Appropriation Account?

T T R



W@ﬁrﬁﬁﬁﬁmml i

ces between JFixe

ferg ot T e
Write any two differen
Capital Method. ™

d Capital Method and Fluctuating

e / OR
mmwﬁmnﬁisooomﬁw%wmmﬁﬂ
0% gﬁﬁ%umﬂwfﬁmﬁ”m‘

Sonu withdraws Z 5,000 at the beginning of each month. The I'dte of

terest on drawings is 10% p.a. Calculate interest on drawings.

8 mamq342$ﬂﬁﬂﬁﬁa@?ﬂ%iaﬁaﬁ?{ﬂsﬁm%l 2
axamaasramﬁmmﬁaﬁmas 3%|mﬁaaﬂma?rwwa%ﬁm|

A, Band C are: ;oart.ners in the ratio of 3 :4:2. B retires. The: new
profit-loss shanng ratio of A and C is 5 : 3. Calculate gaining ratio.

WIOR

PQamR, 5:4; 3$a§mﬁm%lqmﬂm%awm

WPHNRH@WWW%IPHWRWWW—H&TW
S

. Q and R are ‘partners in the ratio of 5 : 4 : 3. Q retires and his

share is ac
o P ang quired by P and R equally. Find new proﬁt loss sharing ratio
nd R. https://www.mpboardonline.com

T ant
W B @) g | 2

Explain
plain Dlsm[uuen of Firm by Notice

Syar / OR
o gftftufaa fafaql

two cond1t1ons for

@ /10773 A

Write any
the compulsory dissolution of the firm.
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What is ‘meant by 'Share'?

st / OR
TR BT R TS B §1 HuHEy |

“Compmy has Perpetual Succession." Explain.

11 ofm % @ TRS Ltd. & 25 &IWH&T?IOOE@W|W%
?Zﬂm%f&qqﬁmaﬂi’rﬁ??roﬁmuimlﬁﬂ?-zoqﬁ%w[
mﬁ'siluwﬁ%swmfﬁEWIHSTWﬁuﬁé:&ﬁmi

Anil had 25 shares of TRS Ltd. of T 100 each. Anil paid ¥ 20 on
applic:aﬁén but could not pay ¥ 30 on allotment and ¥ 20 on first call.
His sharés were forfeited after first call. Give journal entry for forfeiture.

svar / OR

Y Ltd. ¥ 20,000 ww@n sist, T 10 wly afer &1 =X R f%ﬂﬁ?r BRI
W qyE e @ ) HEAWF W wiaieai Hfg)

Y Ltd.:igsucd 20,000 equity shares of T 10 each. All the money was
received=in lump-sum. Give necessary journal entries.

12 @@ & ¥ XYZ Lid. ¥ ue weim 399,000 & ma &1 %y R @
W, ll%m,mi‘loo,aﬁmq\wwﬁ%aﬂml
WaYTE I wiaftedi oY)

A company purchased a machinery from X
price was paid by issuing 11%

Give negessary journal entries.

YZ Ltd. fo

v X 99,000. The
debentures of ' purchase

T 100 each at par,
Wy / OR

%wwgq.

of debentures from the pojng of view of Registrati
ation,

ERLCTL - oo e —
Explain types
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. ' of company.
Explain any two objects of Tinancial Statements of pany

sy / OR

v e @ gkt ¥ B A fig fafan

Write any two points of nature of 'Financial Statements.

2
14 Fed @™ oI & g7
What is Net Profit Ratio?
dyar / OR
Frfvfea & g oM & v dife

aaaﬁ:i%ra;éfzoooo UHg T 15,000, 3w =g T 10,000; sufda amg
% 5,000, whvr T 5,000, gaed =9 3 5,000,

Calculate Current Ratio from the followmg :

Bank cjvérdraﬁ < 20,000; Cash ¥ 15. ,000; Outstanding expenses ? 10,000;

Accrued income T 5,000; Stock ¥ 5 ,000; Prepaid expenses 2 5 000,

15 W= @k R @ 3o

What is Cash Flow Statement?

s / OR
T W P % W vy

Write ‘any two objects of Cash Flow Statement.

320] / 10773 4 0 ORI [ET0




16 Agum B, 3:2 % oqud § QI&K
aw o ® fag P ® o

fergt

TR i | wafwar T
Ny - 20,000
A 20,000 | =i 16,000
15,000 | ¥TeT 15,000

W e 15,000 | T 500
CRci 7,500 | &= 6,000
57,500 57,500

31 2015@3@%3‘@%:’1#%::1%-
(1) qaﬁatﬁlaﬁmﬁ’f’ %ammam%amlﬁ%aqﬁﬁm

(2) %ﬂar&ws%mauﬁml
(3) ?Iﬂi‘lﬁﬂZ%WWl

A and B are partners in the ratio of 3 :2. Their Balance Sheet on
318t March; 2015 is as under.

{

Balance Sheet

Liabilities Amt. | Assets . Amt,
Capitals : Machine 20,000
A 20,000 | Stock 16,000

B 15,000 | Debtors rlS,OOO
General Reserve 15,000 | Cash 500
Creditors: * 7,500 | Bank 6,000
5750 57,500

11
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- ] S -
B retires on 315t March, 2015 on following term

: 15%.
(1) -Reduce machine by 75% and stock by 1o7e

J 0
(2) Create a provision on debtors 5%.

+ " L] 0
(3) Create a provision on creditors 2%.

Prepare Revaluation Account.
. ser / OR

Wﬁ?ﬁa@maﬁhuﬁx%wa‘ﬁaﬁ%a’r

two methods of payment of the amount due to the retiring

faferdt o1 i T

Explain any
paruief.

17 ﬂarﬁ@wﬁ@éﬁwﬂm%ml | 3
Writgfany three differences between Shares and Debégmres.
s / OR
Mﬁ B3 o fasa] qHRy |

Explain any three characteristics of Debentures.

18 ﬁw%ﬁrg@qs‘hﬁaﬂ'{w—aﬁﬁﬁmﬁqmaﬁ; 3
=, wiet, amie 31

Clasﬁﬁz the following items under major heads and sub-heads :
Patqu, Furniture, Trade payable
. qya / OR

Writd' | '
itd" any three importanee of Financial Analysis.

/ 1-0773_A
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19 R Rramemt & qws W % B8 A9 SaE fWrag! 3

Write three examples of cash flow from financing activities.
v s / OR
AFs var fyerr & & o= @w ol

Write any thréé benefits of Cash Flow Statement.
e

oA

20 A JME3: 1%a3qﬁ%ﬁa@m%amaﬂaﬁt§rﬁwaﬂmoooeh 4
?3000%|a1é%ﬁﬁaa$mgmaﬁ?2000mﬁaaaﬁmmnq§%
merwﬁrm&aﬁﬁr%éﬁﬁmmm@mﬁ%{&ﬁwﬁw

@y T 8,000 i H QAT q &/T HTET HAI: T 2,000 @ T 1,500 ®)

)

m—mﬁﬁmmmﬂmwfﬁf@mml f."f.\_

A and B are ﬁﬁrtners in the ratio of 3 : 1 with capltal of T 10 UOQ and
T 8,000. Acccﬁ%mg to partnership deed B will get an annual salary of
< 2,000. Interest on capital is payable @ 6% p.a. The net proﬁtfﬁa‘f the
firm before apove adjustments is I 8,000. The drawings of A and B
are < 2,000 e‘;;;:d T 1,500 respectively.

L !
(Y

Prepare Prof' t & Loss Appropriation Account and Partners' Cépltal

Account. ' 'I
ji

ser / OR

-\,
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¥, g TN d @ A §.3.0 % oo X G ¥) o G T
3w g o & ¥ B @ @, 10% SR o o 3 & we,
222,500 ¥ &9 T& gmi o, T @ & B G FH X 1,20,000; X 75,000
T 60,000 #n §h ur w3 H qd wH & @ T 1,109,250 2
Y- TEEAEE @ R0
A, B and C are partners in a firm in the ratio of 5:3:2. A personally
guaranieed C that his share of profit, after providing interest on capital
@ 10% ;p.a., would not be less than ¥ 22,500. The capitEiijs of A, B
and C were T 1,20,000, % 75,000 and ¥ 60,000. The profit of the firm
before '_Pfoviding interest on capital is I 1,19,250.

Prepare Profit & Loss Appropriation Account.

21 W % GTeA M @ 9 aRRuRmEl awmed
Explah; four circumstances when a firm is reconstituted.
: s / OR
@ R T uiRe o ¥ w9 siaw RiRaw)

Write any four differences between Sacrificing ratio and Gaining ratio.

22 XWYZ:I%WHﬁH@ER%I&ZﬁlfﬁﬁmﬁiﬁTQ‘H%SI%?r

€ 3 30,000 9§ 71 9,000 wyfy 3

THE WA R X g Y oy
a?r@rﬁraﬂzﬁatﬂé%l h

share of goodwill,
ntries,

Sy / OR

Give NECessary journa] ¢
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23

aﬁmﬂﬁmmﬁmﬁaﬁmm=

e @ T 40,000, Fw wuRwar T 6,00,000, = A T 2,80,000,
T gfaed 57 10%.

Calculatel goodwill by capitalisation of super profit method.

Average Profit T 40,000, Total Assets T 6,00,000, Current Liabilities
T 2.80.000, Rate of return 10%.

T HI X 20,000 wwen oy @ 109 diw) T2 Ay siwm A w ¥ 4
Friftm ﬁ-m y il e €

smEeT - T2

IET - T 5 (srfyemw afeq)

W q offew A - T 5
mWﬁmmeW|Wﬁgﬁﬁﬁmuﬁqﬁzﬁwﬁ
A company issued 20,000 equity shares (% 10 each) at T 12 each, f:f‘he amounts
were paid as follows :

Application - ¥ 2

Allotmt;ht - € 5 (including premium)

15t & fj;gl call - ¥ 5

All the money was duly received. Give journal entries in the books of the

iT]
company.

s / OR

530] / 1073 5 NI



TH w4 25,000 gHar @, Z 10 wfr oisr & a7 & frifm fHg,
o w3 ofymt fodr

qE — T 2, aded T 4 auwr v wd eiftm A v - T 4

30,000 sisit % Rrq omie TR W @) T omdEd W W St i
B omeeT W W fea Swem

H A gEE ¥ U wfaieal &t

A company, issued 25,000 equity shares of T 10 each on which the
amount was :j;Jayable as follows :

Application;;? 2, Allotment - ¥ 4 and 15 & final call - ¥ 4.

Application %poney received for 30,000 shares. The excess’ amount
received on: é“épplicatiun will be adjusted in allotment.

Give journal entries in the books:of the company.

[320] , 1-0773_A
16 A 0 O R



